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gk 2 X1 : K2

/if(a>0)
b=1;
else
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/if(a>1000)
b=1000;
else if(a>100)
b=100;
else if(a>10)
b=10;

else

K b=0;

/
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a>0?1:0;1

>0) ? (b=1) : (b=0): }

|

b = (a>1000) ? 1000
(a>100) ? 100:
(a>10) ? 10: O;
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m (age>=20) ? printf(“ XA¥n") : printf(“ F{

¥n');

m #define MIN(a,b) (((a)<(b))?(a):(b))
Zz = MIN(X,y);

m #define ABS(X) ((x>0)?(x):(-x))
z = ABS(X);
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m #define MAX(a,b) (((a)>(b))?(a):(b))Z L\
TR DEXRDOLHRRNDERZTIRT

#int find_max_value(const int af], int n)%&
EEH K
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ek
= int islower(int ¢); XFch/NMXF(a~2)EbEFRY
= int isupper(int ¢); XFCMRXFA~2)LELEFRT
= int tolower(int ¢); XFCchA KX FLEL/INFITEHL
TRY
= int toupper(int ¢); XFCH/NXFL LKL FIZE
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a[0]
a[l]
a[2]
a[3]
a[4]
a[s]
a[6]
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A

lowest| O 1

lowkey| 20 | /9
a[0] | 20 4 20
a[l] 6 - 6
a[2] | 55 55
a[3] | 87 87
al4] 3 3
a[5] | 45 45
a[6] 13 13

A

1 1 4 4
6 (| 6 | 3 [« 3
/

20 20 20 20 3
6 6 6 6 6
55 55 55 55 55
87 | 87 87 87 87
3 3 | 3 3 20
45 45 45 | 45 45
13 13 13 13 13
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A

lowest| 1 1

lowkey «
a[0] 3 3
a[l] 6 6
af2] | 55 55
a[3] | 87 87
a[4] | 20 20
a[5] | 45 45
a[6] 13 13
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6 6 6 » 6
55 95 55 55
87 87 87 87
20 - 20 20 20
45 45 45 45
13 13 13 13
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lowest| 2 2 4 4 6
lowkey| 55 55 | 20 20 - 13
/
a0] | 3 3 3 3 3
a[l] | 6 6 6 6 6
af2] | 55 55 55 55 >< 13
a[3] | 87 || 87 87 87 87
a[4] | 20 20 - | 20 20 / 20
a[s] | 45 45 45 || 43 45
a[6] | 13 13 13 13 55
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lowest| 3 4 4 4
lowkeyl 87 | 20 k- | 20 k| 20
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a[0] | 3 3 3 3
a[l] | 6 6 6 6
a[2] | 13 13 13 13
a[3] | 87 87 87 T 20
aj4] | 20 | 20 20 ] 87
a[5] | 45 45 | | 45 45
a[6] | 55 55 55 | 55
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lowest| 4 5 5

lowkey| 87 |« 45 |« 45

a0] | 3 / 3 3
a[l] | 6 6 6
a[2] | 13 13 13
a[3] | 20/| || 20 20
a[4] | 87 87 B 45
a[5] | 45 || 45 [ 87
a[6] | 55 55 | 55
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a[2] | 13 13 NzeTDENH D FTEEIC
a[3] | 20 20 Fro T (3 HE) =60
a[4] 4;/ 45 IZhE

a[5] 87 ™~ 25

a[6] 95 ¢ >< 87
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mERY—FE1T7OBE % void selection_sort(int
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a[0]

a[l]

a[2] | 55

a[3] | 87 87

al4] 3 3 3

a[5] | 45 45 45 45

a[6] | 13 13 13 13 13
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a[0] | 3 3 3
a[l] | 6 6 6
a[2] | 20 20 20
a[3] | 55 " 55 | 45
al4] [ 87 1><:1L 45 4>< 55
aj5] | 45 | 87 87
a[6] | 13 13 13
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a[0] | 3 3 3 3 3 3 3
a[l] | 6 {6 6 6 6 6 6
a[2] | 20 20 [ 20 20 20 20 13
a[3] | 45 45 45 | 45 45 45 20
a[4] | 55 55 55 55 [ 55 55 45
a[5] | 87 87 87 87 87 [ 87 55
a[6] | 13 13 13 13 13 13 87
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m AV —FZ1T75B % void insertion_sort(int
af], int n)Z=EE &
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